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J'TP(Pszangzaf) :?%?VF(R,PZ,QI,HZ,I) for 91’92 >0, t=L..T
VP(R’PZ’QI’QE’I)

= A(1= BYF(R)[R +m,(6, ~1,6,,¢ =]

A= BYF (Y- BF (B[P 47, 06,71 =1)]

+A(1-B)F(B)B, {j: [P, +(1-a)c,] f(x)dﬁj: [P, +(-a@)c, ] f(x)dx+F(e;)x (6’1,6’2-1,1‘—1)]
+AB, {j; [P +(-a)e | f e+ [aB + (1 -a)e ] f(x)de+ F(@)7p(6, =10yt ~1)}

+HABF ()1 - B)F(B)[ P, +7,(6,6, ~ L1 -1)]
+AB.F(e) 5, { Lf [aB, +(-a)e,] f(x)dx +jf [aB, +(1-a)c,] Fx)dx+ F(e,)mp(6,,0, =1t - 1)}

i a- [ FEH1- BFEFRIAFRIFE) |
~B] Fle)+1-B)F @) F(B)AF(C )F(c, )ﬂ} 7(6,,6,.1=1)

Here F(x) is assumed as the Weibull distribution with shape parameter

2 and scale parameter 80. (1) Try to calculate the Hessian matrix and (2)

State the optimal V occurred under which conditions of P; and P,. (25/25

50 £ 5049)
= [ (] ke (15 %)

= ~ {3 R 2 Fo(Riemann sum)$ 3] ? (15 %)

rg ~ Find the area of the region bounded by y = x° and the line passing through

(5,3)and (-3,0) (20 %)
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